BM.3... MULTI STATION SUBPLATE ron

BM.3.**...

Multi station subplate

CETOP 3/NG6

50 = Connected in parallel with pressure relief valve and rear connectors
70 = Connected in parallel with pressure relief valve and side connectors
52 = Connected in series with pressure relief valve and rear connectors

72 = Connected in series with pressure relief valve and side connectors

60 = Connected in parallel without pressure relief valve and side connectors

No. of valve seats
2/3/4/5/6/718

.'X— ..X—

Type of adjustment (omit for 60 version)
M = Plastic knob
C = Grub screw

Setting range (omit for 60 version)
1 = max. 50 bar (white spring)

2 = max. 150 bar (yellow spring)
3 = max. 320 bar (green spring)

'

No variant

Serial No.

aa

* The minimum permissible setting pressure depending on the spring:
see cartridge valve type CMP.10...

BM.3.60 CONNECTED IN PARALLEL WITHOUT PRESSURE RELIEF VALVE

Type A B  Weight (Kg)

BM.3.60/2 120 108 3,6

BM.3.60/3 170 158 51

BM.3.60/4 220 208 6,7

BM.3.60/5 270 258 8.2

BM.3.60/6 320 308 9,7 35 50 35
BM.3.60/7 370 358 11,2 59
BM.3.60/8 420 408 12,6

@D

THmWD

@D

@D

T—HWD THmWD

38

16

Fixing screws M5x70 UNI 5931

File: EBM3001 Vil = 16 00/2000/e



BM.3... MULTI STATION SUBPLATE

aron.

BM.3.50 CONNECTED IN PARALLEL WITH PRESSURE RELIEF VALVE

e e Type A B  Weight (Kg)
B
P— I BM.3.50/2 141 126 4,6
R 0 BM.3.50/3 191 176 6,1
? B BM.3.50/4 241 226 7,6
P BM.3.50/5 291 276 9,1
a A e T BM.3.50/6 341 326 10,6
B E R P lo e10.5 |i[i] BM.3.50/7 391 376 12,1
P o M) I | I I | (s BM.3.50/8 441 426 13,6
@ 0 1 R
oz n T C ) ‘ " I ‘ I =
P o N \\\ \ i I I i I N
L O N N
32.5 3/8"BSP ‘ ‘ ‘ 26. 5
7.5 37 7.5
1/4”BSP g 10.5
1 -k 210 ok L, © S VN -
il #’{gﬁ* g : Stee, P,
- = = \ 7 - = = \ 7 \ VR Al
‘ P T ol P T Po T o R\ o
I CRUNES S o s LA AR (©)
- = = 7 W o~ = = = L/SE%\\ /{%\ I g 0 © P @ wl |
== NP I - E- AN N NP ] N - " ®
o = LN Ln ~l [®) =l [ L)
o - SR DG I A
P ‘ X WL L. ‘ < g «
5 € fe) 4 7% -
= = | P
" : = : 50 57 Y 18] 15| 19| <&
” o 7.5 ‘ ‘ 7.5 T~ NN
; e —
o : £ TATRTANL
g o
[ 1 R PR
Fixing screws M6x55 UNI 5931
BM.3.70 CONNECTED IN PARALLEL WITH PRESSURE RELIEF VALVE
g e Type A B Weight (Kg)
P—s | BM.3.70/2 160 148 4,9
. . BM.3.70/3 210 198 6,4
? B BM.3.70/4 260 248 7,9
P BM.3.70/5 310 298 9,4
o . = == s zE BM.3.70/6 360 348 10,9
B 8 e T ‘ BM.3.70/7 410 398 12,4
P2 : ﬁ BM.3.70/8 460 448 13,9
M
T ] -
PSS §oTT o
7.5 | A : T :
70 - m>< |
! \ o
Al £
I
Fixing screws M5x70 UNI 5931
File: EBM3001 Vil e 17 00/2000/e




BM.3... MULTI STATION SUBPLATE

aron.

BM.3.52 CONNECTED IN SERIES WITH PRESSURE RELIEF VALVE

g g Type A B  Weight (Kg)
B
[ — BM.3.52/2 141 126 4,6
g! lg ©10.5 BM.3.52/3 191 176 6,3
i — 86.5 BM.3.52/4 241 226 7,6
Pjﬁ} L } } BM.3.52/5 291 276 9,2
PL; 1 " Ty T BM.3.52/6 341 326 10,7
g CMP1O o BM.3.52/7 391 376 12,2
X o T E © BM.3.52/8 441 426 13,7
o T Ny I I I I
ol |1 \k\ | } I I } I 1
ih . " L
32.5 3/8"BSP ‘ ‘ 7.5 37 7.5
. 1 /4"BSP g 10.5
M
@ 1~ 1S - T ® : E
/TN N VRS 7 AN © D 0
oL e 0LV 94T e 3 T [, @
r P\%/T rr p\%/T p\é/‘r o o /
— T d 4 - ord oo % G 2
‘ N ol M $ N % { o \K&
R s FXEN g L L= s FBEN /{%\\ SN A
B F=- NP “ ® ;e N o N o ~ " mﬁ) @
R L IR AR w
1T RERTS ’ a1
c s © - T -
"54 | 50 37 m *%6? 18 15 19
2 ® 7.5 1 1 B 7.5 %
u'.) >< /,\ I L\ Q
é B e Frr
i Wit
i) Vi !
Fixing screws M6x55 UNI 5931
BM.3.72 CONNECTED IN SERIES WITH PRESSURE RELIEF VALVE
e - 77@ Type A B  Weight (Kg)
5
P BM.3.72/2 160 148 4,9
al Ia BM.3.72/3 210 198 6,4
- B BM.3.72/4 260 248 7.9
Pj@_ 35 50 40 35 BM.3.72/5 310 298 9,4
PLL ] _le9 BM.3.72/6 360 348 10,9
5. ﬁf BM.3.72/7 410 398 12,4
i I i BM.3.72/8 460 448 13,9
= ﬁH A A B
i i (@ > (@ > i
- ik CMP 1 0SS 1‘1
ol “L e : )
o | ][ e
' ' 70
1/4"BSP 2
M
T e A
© % < #}BQ} % ‘ U T
1O70 & TO F 0 | T 6f
v e o T I | | <
6 B I | 5 € g
A ! 1 ®
/,LA;:"LJ\ L:
fAT et g
EH\\:'\\\H::
R
Fixing screws M5x70 UNI 5931
File: EBM3001 Vil e 18 00/2000/e



